BRAGE JFENTEE
SFAFE6H 1AM SMFESA3IEE T

Fre IEEFNEENENY 7 7T "2 L

BLH FREIEBANEENC AR D 5
I AIEA
1. U4
= HUER 4 7, 000, 000
B PE IS 500, 000
2. ZOMULEE
= BURLEL 0
MEN 2% 0
SN 7, 500, 000
M
1. HEE
1 N 0
Y S 0
EEERE 0
IRk A< 0
ER| S 0
NG -4 0
(2) Z DR E
THFESL R 2, 500, 000
I YR liE=¢ 1, 200, 000
HEEEE 250, 000
ISR 50, 000
ELTFECRE 10, 000
Z DOt E E 4,010, 000
FEEG 4,010, 000
o EPE
1 A%
15 B 0
R 0
EEERE 0
BTG A2 0
R 0
NG - 0
(2) Z DR E
THFEAL R 100, 000
TR AR 50, 000
H(EEEE 150, 000
NS B 50, 000
SELTECRE 10, 000
Z Ot E 360, 000
B 360, 000
B G 4, 370, 000
IR B AR 3, 130, 000




OEAEEER AR B IR R

e AT
4 J0 1E R U A
AT 80 B s P
UGB IR b pE

0

3, 130, 000

3, 200, 000
6, 330, 000]




